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Sentence Transformation - Pre-Intermediate Level Test 01 

 

Questions 

1.  He has no tooth. 

--> He's.................. 

 

 

  _ 

2.  It has no odor. 

--> It's.................. 

 

 

  _ 

3.  The performance had no flaw. 

--> It was.............................. 

 

 

  _ 

4.  The tires have no tubes. 

--> They are...................... 

 

 

  _ 

5.  The shaver has no cord. 

--> It is.......................... 

 

 

  _ 

6.  He teaches English. 

--> He's an....................... 
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  _ 

7.  He paints houses. 

--> He's.................... 

 

 

  _ 

8.  He climbs mountains. 

--> He's....................... 

 

 

  _ 

9.  He smokes a pipe. 

--> He's....................... 

 

 

  _ 

10.  He makes trouble. 

--> He's................... 

 

 

  _ 

 

http://www.englishteststore.net/

